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1 |deEE 2.3E+3 2,340.0
2 | BEHRER 1.1E+3 2.7E+0 11215
3 _|AFER 3.2E+2 1.3E-1 317.5
4 |EHE 1.8E+2 180.0
5 |RHEER 9.0E+1 90.0
6 |[ILFR 1.9E+2 9.2E-2 185.5
7 |&REBE 4 5E+2 1.5E-1 451.0
8 |REE 2.5E+3 8.8E+0 2,496.0
9 [HARE 3.7E+2 1.2E-1 370.0
10 [BEER 1.6E+3 1,5682.5
11 |BER 2.8E+3 9.9E-1 2,805.0
12 |FER 1.4E+3 1.7E+0 1,396.0
13 | AR 4 6E+1 2.5E+0 48.0
14 |[ARNE 6.8E+2 2.5E+0 680.0
15 |FiRE 51E+2 505.5
16 |EWE 3.2E+2 315.0
17 |BNE 9.2E+1 915
18 |f@HAR 9.2E+1 91.5
19 |IWFRE 9.0E+1 90.0
20 | RHFER 1.8E+3 1.1E+0 1,767.5
21 |IFRE 2.0E+2 5.0E-1 197.0
22 |FEEER 1.0E+3 3.9E+0 1,009.0
23 |BHIE 2.2E+3 3.1E-1 2.212.0
24 |ZEE 7.2E+2 720.0
25 |#ER 2.3E+2 225.0
26 | AT 1.1E+2 109.5
27 | XBAF 9.9E+1 99.0
28 | EER 2.3E+2 2.2E+0 234.0
29 |XRR 9.0E+1 90.0
30 |FNERILE 3.4E+2 7.2E+0 3475
31 |BRE 1.4E+2 136.5
32 |BRE 4.7E+1 465
33 [MIIE 5 5E+2 546.0
34 |[LEBR 1.2E+3 1,222.5
35 [ILAOE 9.2E+1 91.5
36 |fESR 4 8E+1 3.0E-1 48.0
37 |BINE 51E+2 3.2E+0 514.0
38 |ERE 9.0E+1 90.0
39 |SHE 8.6E+2 5.7E-1 859.5
40 |fEREE 41E+3 41415
41 |EER 4 5E+1 45.0
42 |RIGE 2 4E+3 2,430.0
43 [REXRE 2.3E+3 9.0E-2 2,297.5
44 | KHE 3.2E+2 3225
45 [EIBE 1.4E+3 1,440.0
46 |[ERBE 1.3E+3 4 2E-1 1,266.0
47 [piBl 6.3E+2 630.0
2E 3.8E+4 3.9E+1 38,294.0
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